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Note: All questions are compulsory. Marks are indicated against each question in square

brackets.

Q.1 Distinguish between
(i) Elastic limit and yield point. (i) Nominal stress and true stress. o 2 [1+1]

Q.2 A bar of uniform thickness t tapers uniformly from a width b N at one end to b2 at the other
end in a length L. Find the expression for its extension under an axial pull P. 2]

Q.3 The bar shown in Figure below is tested in universalr_ ?é___s_fihg machine. It is observed that at a
load of 40 kN the total extension of the bar is 0.280 mm. Determine the Young’s modulus of the

material. _ 3]
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Q.4 A bar 30 mm in diameter was subjected to tensile load of 54 kN and measured extension of
300 mm gauge length__ was 0.112 mm and change in diameter was 0.00366 mm. Calculate
Poisson’s Ratio and the value of three modulj. (4]

Q.5 A Concrete column of C.S. area 400 x 400 mm reinforced by 4 longitudinal 50 mm diameter
round steel bars placed at each corner of the column. Calculate (1) maximum axial compressive
load the column can support & (ii) loads carried by each material & compressive stresses
produced in each material. Take Also calculate change in length of the column. Assume the
column in 2m long. Permissible stresses in steel and concrete are 160 and SMPa respectively.
Take Es = 200GPa and Ec = 14GPa. [4]
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